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import sys
sys.path.append("statlib")

from power import PowerOneSamplePropTest

PowerOneSamplePropTest(n, p, p®, sig_level, power, alt="two", verbose=True)
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import sys
sys.path.append("statlib")
from power import PowerOneSamplePropTest

a = PowerOneSamplePropTest(n=None, p=0.6, p0=0.5, sig_level=0.05,
power=0.8, alt="one")

n = 152.45713333346845
p=20.6
pd® = 0.5
sig. level = 0.05
power = 0.8

alternative = one.sided
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a = PowerOneSamplePropTest(p=None, n=152, p0=0.5, sig_level=0.05,
power=0.8, alt="one")

n = 152
p = 0.3998518066670063
p® = 0.5

sig. level = 0.05
power = 0.8

alternative = one.sided
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a = PowerOneSamplePropTest (p®=None, n=152, p=0.6, sig_level=0.05,
power=0.8, alt="one")

n = 152
p=20.6
p® = 0.49984974309528546
sig. level = 0.05
power = 0.8

alternative = one.sided
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a = PowerOneSamplePropTest(sig_level=None, n=152, p=0.6, p0=0.5,
=0.8, alt="one")

power
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a = PowerOneSamplePropTest(power=None, n=152, p=0.6, p0=0.5, sig_level
=0.05, alt="one'")
n 152
P 0.6
p® 0.5
sig. level = 0.05
power = 0.798939651779675
alternative = one.sided




